AQA Paper 1H Practice Booklet

20 practice questions based on the advance information
Copies of this booklet, as well as hints & solutions, are available at bossmaths.com/advanceinfo

Question 1

4
Which is greater, 3 of 87 g or 14% of 800 g?

150(3 %3 = 294 \°L098®=‘{T4350=%

) %°c ¢ so \uh of 8D =

Thea stake wWhich g areol'er

Question 2

ENE

Work out <(0.35 X 1.4)2> writing your answer as a decimal.

Ruv\uv\be,r) (QM>{\ = QMN
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Question 3
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Write down the three inequalities that define the shaded region.
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lines indicoke
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Question 4

Simplify each of these expressions as far as possible. ,I o,b = l [(\ I b

(a) 5y/44 —8/11 = oy WS'\'\ _ 8{_\‘

—
-

OVIVT L @y F kG = 2 Xkﬁ*ﬁ)

)

(1]

() —Te-39-21) = — Fx A —3@-—21)

Question 5

222+ 92 -5 / F&C,\’Dﬂ'Se,

Bx+4)—(x+5)

A Sx‘mpl.\'ca 133 c;:\ku,\'h\& \x\& kerms.
TO\\L?. Cove \,;r\\>h Yhe \DC“&C«MQ)Cg

Simplify fully

OI\C& \dou’\/c done P"“:f, \AGL\ 5\r\s\~u See H\b

Aumecodoc ond denominshor chafe a Commen Poctor.
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Question 6
Work out 9.5 x 10% + 60,200,000, writing your answer in standard form.

45 x \& + €02 X \O
- 45 x 10 + 0-602 % 10°

i\

Question 7
The first three terms of an arithmetic sequence are:
25 o op—a1 G congtonk difference bekueen. consetubive bormg

So.

Find the value of z.

24 Yerm — Jt kerm = Bdberm — 7.4 term

(x-5) — ’L_;S = 2x-2\ — (z-5)

Now sslve this eqobion b find x.
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Question 8

The diagram shows the lengths, in centimetres, of two sides of a right-angled triangle.

Find the value of p.
Ly 2

S‘\f\(().} = —%’L‘\,)_‘ s\p\w& doeg

bhis SI‘MPUQ
LY,

4+ 2

Question 9

How many faces does an octagonal prism have?

2 bQ\’oaot\o-k '(30\&3

+ l‘e,dcw\gu\w foces - faces ‘a ool

Question 10

(a) Write 0.103 as fraction in its simplest form. SD -
ek x = O 1030303..-

Thea \00% = 10-3030303...
Gtk x = O \O303]...

Yo qeb A4 =

(b) A biased coin has a probability of 0.103 of landing tails side up. If the coin is flipped 330 times,
how many times would you expect the coin to land tails side up?

¢ H\e, coin iagkesd hed 6 pm\ooila-'(ih o@ “:‘; D(Z Ccam\'c\j
up toils, e weuld exgeck it b hogpen L of 320

= \\D '\’l.mcS. B\lm,) \’W, Some lcﬁ{(_’ \oU\k ,(\g}uol Q(Z
L&, use the [rochen YU wocked ouk in (&) .
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Question 11

The graph shows the distance covered by a cyclist for 6 seconds.

= Zesio Sroaliel\k \\U’b

:: / Mams the speed is

1 HEEHAREEP

Distance s}

On o Jickance - kime

= g aroph,, the grodient
- s Phe speed.
" “Uc, ) e 3(00\*0’\"
: Srorts \\is\r\ ond decrentes
b 2ze0.

Time (s)

Here are four sketches of speed-time graphs. One of these sketches represents the cyclist’s speed
during the six-second period shown on the distance-time graph above. Circle this sketch.

Speed Speed Speed Speed
(m/s) (m/s) (m/s) (m/s)

Time (s) | Time (s) Time (s) Time (s)
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Question 12

Here are sketches of four triangles. The sketches are not drawn to scale. Exactly two of the four
triangles are congruent to each other. Circle these two triangles.

S
10 cm 12cm 10

N
“““
‘ 65° us° AN

Question 13

This graph shows the amount charged by a plumber for up to 4 hours of work.

Give an interpretation of the gradient of this graph.

Charge?t
(£)
240
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2

Time (hours)
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Question 14

A group of 40 people are asked whether like tennis, cycling, both, or neither.
1
The probability that a randomly chosen individual likes tennis is T } 8 Pwplg,

pecple

. dn’t like oith . line. o
Of the 40 people, 19 said they didn’t like either tennis or cycling 1 m WSSlf\s Al \)QB

Fill in the three blanks in this Venn diagram.
mud add w W

) hO-\Q = 2\.

3
The probability that a randomly chosen individual likes cycling is 5 } \S
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Question 15

Here are the equations of six curves.

A y=x*-2x+1 D. y=x>-38
B. y=5" E. y=3"
1
C.y=-— F. y =sinx
X

Sketches of three of the above curves are shown below.

Match each graph to its equation from the list above.

Tﬁj sv\zs\—i\'uk‘lr\s =0 b

CF«A lhere eoth  Gwrve
nberjeds  Xwe \Q-OOGS-

~— —

&xewl;%O
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Question 16

This cumulative frequency graph shows information about the heights, in cm, of rowers at a rowing
club.

Cumulative
frequency
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Height (cm)

Work out an estimate for the number of these rowers with a height greater than 186 cm.
Thee are cowss  in tol -
We edimske  bhok e up b 186 wm kol

So COWSS  Are Srea.ker Won \B6 cm k.
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Question 17
OAD and OBC are sectors of circles with centre O.

The points O, A, and B lie on a straight line. Similarly, the points O, D, and C'lie on a straight
line.

OB has length 13 cm and OD has length 12 cm.

&

>

4
ey

Find, in terms of z, the shaded area ABCD in cm”.

T2

149
- YS
Arco\oc ek OBC %0 —— K TTX

+2
hees of socoe OAN = 3&7('”-)”?-
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Question 18

8(qg+3
(a) Make p the subject of the formula m = (g+3p)
p

My

R4, + 24p

\

Qubtvock 2hp from both gides
e - 2‘\9) s,

{

Foctorice ouk p
(’() = B9

3 53
(b) Work out the value of p when ¢ = — and m = -
Write your answer as a fraction in its simplest form.

S\L‘o&il\\kc q,:% OJ\A M= % inbo e aad (I-nrmwb\

Lo ()
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Question 19

The diagram shows the points, X, Y, and Z.

The vector XZ = -a —5b Q

- —a—5b
The vector YZ = —4a - 3b
@ is the midpoint of XY. .

Y
Find the vector Z() in terms of a and b.

—> — —>
XY = KZ » 2¥
-0-Sb + Lat3b

—> —> —
ZQ = ZX ~ KRQ
- — | —
ZX + 2| K

—4a—3b Z

ZY = -NZ

—_ —>
A = KL

.....
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Question 20 0)
The region R contains the set of points within triangle ABC that are closer to A than B and closer

to BC than AB.
Construct and shade in the region R O ()g?o&m\ﬂ! @ A'\J\L biseckor
onstruct and shade in the region R. . Se_d-pf 0(‘, °c AABC

A3
C
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